
Table 4 
 
Table 4:  Projected Payment  Comparison  
  

Note: Direct and CC Payments are reduced if fruits, vegetables or 
wild rice are planted on base acreage. 

Example: 
 

Wheat 

    

Basic  
Information   

1.  Base Acreage for the crop 125     

2.  Direct and Counter-Cyclical Payment Share 100 pct     
3.  Direct Payment Yield 86     

4.  Direct Payment Rate (Table 1, Item 4) 0.52     

5.  Counter-cyclical (CC) Payment Yield 88     

6.  Counter-cyclical Payment Rate (Zero, if negative) 
  
________________ minus (higher of _________________ or _______________) 
Table 1, Item 6 (CC Threshold)          Table 1, Item 5 (DCP Loan Rate)   Table 3, Item 5 

(3.39 
minus 
4.60 = 
neg.) 
  

(Zero)  

    

DCP  
Payments Direct  7.  Calculation: Item 1 x Item 2 x Item 3 x Item 4 x 0.85 $ 4,752     

  
Counter-
Cyclical  

8.  If Item 6 is zero, enter zero. 
   
     If Item 6 is greater than zero, calculate the CC payment as 
follows:   

  
     Item 1 x Item 2 x Item 5 x Item 6 x 0.85 

0     

     9. Total DCP Payments $ 4,752     
ACRE  
Program 
Payments 

Direct  10.  Calculation:  Item 7 times 80% $ 3,802     
ACRE 11.  See Table 3, Item 25 $2,611     
   12.  Total ACRE Program Payments $ 6,413     

 


